Flyingbear-P905 Installation Manual

1.Frame installation - - - ——

-1

2.Z-axis installation- — - ——

3.Hot-bed installation- - - —

-5

4 .Drive shaft installation-- -

-7

5.Y axis motor installation- -- -

6.ldler wheel installation-- -

-9

7.X-axis installation - —

8.Extruder installtion- — -

9.Y shaft and Z shaft limit switch installation-

10.Motherboard and LCD installation-------

11.Power supply installation- --- --

12.Synchronous belt installation -- —

13.Setting up slicing software- --- ---

14.Setting auto leveling sensor----------

15.First print model---------=---- -

16.Wring diagram- --- S

---29



1\ Frame installation

Step 1

Step 2




2. Z axis installation

Step 1

/10mm optical axis I

g4

X

Z axis fixing block

M4 headless screw T8 screw rod

10mm optical axis M3*8 bolts

M4*12 bolts

Screw connecting plate

E
-

’1

Liner bearing

M4 nut

Screw nut



2. Z axis installation

Step 2

M4*8 bolts

Coupling

M3*8 bolts

M3*25 bolts
M3 nut




2. Z axis installation

If you are dual Z axis version, you can refer to the installation method

M4*8 bolts

Hot bed connecting plate




3.Hot bed installation

Step 1




3.Hot bed installation

If you are dual Z axis version, you can refer to the installation method




4. Drive shaft installation

Step 1

6mm optical axis

Bearing block

Beargings
6*9*%2 brass spacer
2GT16 pul ley

6mm Synchronous belt
2GT16 pulley

——

Bearing block

2GT pul ley

6*9*2 brass spacer

Bear ings

A



4. Drive shaft installation

Step 2

M4%8 bolt




5. Y-axis motor installation

Step 1

M4 nut Extruder motor fixing plate

motor fixing plate
M4*8bolts




5. Y-axis motor installation

Step 2

10



6. Idler wheel installation

Step 1

Idler wheel mounting block
M3*25bolts

M3*5bolts

1



7. X-axis installation

Step 1

8mm optical axis
Length 342mm or 364 mm

M3*5bolts

12



7. X-axis installation

Step 2

M3 nut
M3*25 bolts

8mm optical axis
Length 342mm or 364 mm

M3*5bolts



7. X-axis installation

Step 3

3010 fan

Fan installation direction

M2*12 bolts

limit switch: M3*8 bolts

M3*14 bolts
M3 nut

Automatic leveling switch

Manual-leveling does not require
the installation of this part \



7. X-axis installation

Step 4

8mm optical axis
Length 275mm or 335 mm

M3*Sbolts




8. Extruder installation

Step 1

‘ 42-47 motor

Extruder motor fixing plate



8. Extruder installation

If you are dual Extruder version, you can refer to the installation method

17



9. Y shaft and Z shaft limit switch installation

Step 1
M3*8bolts
Limit switch fixing plate
M2*12bolts
Limit switch
M2*12 bolts
Limit switch
M2 nut

Auto-leveling does not require
the installation of this part



10. Motherboard and LCD installation

Step 1
LCD2004
M3 nut
Isolation column7*3*5

LCD shell

M3*25bolts

4010 fan
M3*14bolts




10. Motherboard and LCD installation

Step 2

20



11.Power supply installation

Step 1




12.Synchronous belt installation

Step 1

22



13. Setting up slicing software

3D printers have very many slicing software, such as Cura, simplify3D, and so on, but

we only introduce how to use repetier-host.

Software download address: https://www.repetier.com

When the software installation is complete, click "printer settings”,and then follow the

pictures in turn to operate

[ Repetier-Host V1.6.2

File View | Config | Printer Server Tools Help

o E Language v |
Connect T Lc: Iﬁ"rinter Setrt?l:agsr § Ctrl+P @
r—— Firmware EEPROM Configuration Alt+E
2 fiee fen Units of imported Objects »
c k Preferences Alt+P

+

OO

Printer Settings

Printer: FlyingBear

Connection Printer Extruder Printer Shape Scripts Advanced

Connector: Serial Connection v
Port: CONG
Baud Rate: 250000 v

Transfer Protocol: | putodetect v

Reset on Connect DTR low->high->low
Reset on Emergency Send emergency command and recormect
Receive Cache Size: (127

Communication Timeout:) [s]

[] use Ping-Pong Communication (Send only after ok)

B

The printer settings always correspond to the selected printer at the top. They

Printer Settings

Printer: |FlyingBear

Commection Printer Extruder Printer Shape Scripts Advanced
Travel Feed Rate: 4800 [nn/min]
Z-Axis Feed Rate: 100 [an/min]
Manual Extrusion Speed: 2 20
Manual Retraction Speed: 30 [an/s
Default Extruder Temperature: 200 v
Default Heated Bed Temperature: 55 ‘¢
[“] Check Extruder & Bed Temperature
[[] Remove temperature requests from Log
Check every 3 seconds.
Park Position: X: [o Y: o 7 ain: [0 (an]

Send ETA to printer display
[4] Disable Extruder after Job/Kill
[¥] Disable Motors after Job/Kill [“] Printer has SD card

Add to comp. Printing Time 8 %]

Invert Direction in Controls for [ x-axis [ Y-Axis

OK Apply

[nn/s]

[]Go to Park Position after Job/Kill
[] Disable Heated Bed after Job/Kill

[ z-axis

Cancel

23

i Object Placement g

(+)

Port :According to the ports in Device
(COM&LPT) to choose,
Each

manager
(Notice: computer is
different,my computer is COM5.)

Baud Rate: fillin “250000”

Other parameters remain the same.

Reference temperature:

Print PLA

Extruder temperature: 190°C around
Bed temperature: 40°C around

Print ABS
Extruder temperature: 230°C around

Bed temperature: 80~100°C around

Other parameters remain the same.



13. Setting up slicing software

Printer Settings

B

Printer: default |

Comnection Printer Extruder Printer Shape Scripts Advanced

Number of Extruder: F] =

Max. Extruder Temperature: 280

Max. Bed Temperature: [120

Max. Volume per second ‘157 [mm® /5]

[J Printer has a Mixing Extruder (one nozzle for all colors)

Extruder 1
Name: [ex
Diameter: [0.4 | [mn] Temperature Offset: iO | [*c

offset X: 0 1 Offset Y: ‘0 [mm]

Extruder 2
Name: e2
Dianeter: |0.4 [nn] Temperature Offset: |0 | )

coo:
Offset X: 0 Offset ¥: ‘0 | [nn]

Apply Cancel

Printer Settings

Printer: ‘VdEfant v]

=]

Comnection Printer Extruder Printer Shape Scripts Advanced

Printer Type: Classic Printer v

Home X: Hin ~  Home Y: Hin v | Home Z: Nin hd
¥ Nin |0 | % Max 350 Bed Left: |0 |

Y Hin [0 | ¥ Max [300 ] Bed Front: [0 |

Print Area Width: [350 ‘ nm

Print Area Depth: [300— nm

Print Area Height: {2‘30 } nm

The min and max values define the pessible range of extruder coordinates.
These coordinates can be negative and outside the print bed. Bed
left/front define the coordinates where the printbed itself starts. By
changing the min/max values you can even move the origin in the center of
the print bed, if supported by firmware.

|

Y Max
_—

0K Apply Cancel

24

For double nozzles, please fill in 2
Number of Extruder:1/2

Name: P9.2-0.4
Diameter: default it is 0.4,Please fill
in it according to your nozzle’s

diameter.

Other parameters remain the same.

Printer: FlyingbearP905

X Max: 220 (Big size 280)

Y Max: 220
Print Area Width: 220

Print Area Depth:220

Print Area Height: 200 (Notice:The
actual size is 210 ,but due to each
customer’s installation is different,it
is possible to cause the size smaller
than 210 .So it’s more safe to fill in
200.)

Other parameters remain the same.

Printer: FlyingbearP905 Plus

X Max: 280

Y Max: 242
Print Area Width: 280

Print Area Depth: 242
Print Area Height : 350



14. Setting auto leveling sensor

Open the repetier-host and connect to the printer.select “manual controltab and

you should see”G-Code”.Write in this field “G28”and press send button,Then send

the G1 Z0, the screen will show that the Z axis is "Z=0".Now you can operate the
printer by LCD screen , select "prepare/move the axis / 0.1 mm/move z" according

to the menu . Move the Z axis, until the distance between nozzle and hot bed reaches
the most suitable distance.(the best distance between nozzle and hot bed is probably
a piece of A4 paper). Then record the Z axis numerical that LCD displays (This
numerical value should be a negative number, let's assume this value is -1.5).And then
we send the G code "M851 Z - 1.5", finally send G code "M500" to save your changes

= X

I @

Printer Settings Easy Mode Emergency Stop

Object Flacement Slicer Print Preview {Manual Control! sp card

‘ ([ZJ pisconnected
G-Code: I |_

[ — — — T
) § i
2

OP200POO00OO

Before slicing, add the auto leveling "G29" code

[/ Repetier-Host V1.6.2

— a X
File View Config Printer Server Tools Help
0 .B. ¢ g 0 @
: . & 2
Connect Load Toggle Log Printer Settings Easy Mode Emergency Stop
3D Viev Temperature Curve Cura Object Placement |Slicer| Print Preview Manual Control SD Card
CuraEngine Settings Close
Clice with CiiraEnaine Kill Slicing
Print Filament b Slice with Curak ngine Kill Slicing
Default v & Save W Save as ... @ Delete
Slicer: CuraEngine v 6 Nanager
& Import & Export
[(Bcentigurats ] o
Speed and Quality Structures Extrusion |C-Codes| Advanced Configuration
Stt Gode | [; Default start code ~ Print Settings: 2
End G-Code s t
Before Extruder Switch ICG; g’,AH:melex i‘.‘de“i Print Configuration: efault v
After Extruder Switch LR e B
Gl Z15 F{Z_TRAVEL_SPEED} Adhesion Type: None e
M107 ; Turn off fan
G90 ; Absolute positioning Quality: 0.2 am ~
M82 ; Extruder in absolute mode -
T {IF_BED}M190 S{BED} Support Type: Touching Bed v
A ; Activate all used extruder
You can add dynamic values, |(IF EXTO}M104 TO S{TEMPO}
;’l‘gziggt replaced during {IF_EXT1}M104 T1 S{TEMP1} Sosed:
G92 EO ; Reset extruder position o Slow Fast
Print Speed: 45 nn/s
Outer Perimeter Speed: 38 mn/s v
Show in Log: @Commands OQlInfos OWarnings OEFrrors @ACK OQAuto Scroll @ Clear Log (#Copy
15:41:53.130 OpenGL version:4.3.0 - Build 20.19.15.4549 ~
15:41:53.131 OpenGL extensions:GL EXT blend minmax GL_EXT blend subtract GL_EXT_blend color GL_EXT abgr GL_EXT_ texture3D GL EXT_clip volume hint GL v
Disconnected: default = Idle

]

25



15. First print model

There are two ways to print: use the SD card to print and use the computer to print.

It is recommended to use the SD card to print. The computer will be standby or have other

abnormal situation to interrupt the printing process when use the computer to print.

Attention:The hot bed needs to paste the masking tape or painted with the self-adhesive

before printing.

Introduction of using SD card to print

) Print Rite ColiDo Repetier- Host V155 - Test Model - o b

Fle View Coalg Printer Server Tools Help

O .B.>p.m ¢ % O -
v Printer Seftings Easy Mode ColiDo Emergency Stop
Object Placement Slicer Print Preview Namual Contrel 5D Card

=) HOALPakh

Disconnect  load  StartPrint K01 F
3 Viev Teapsrature Cuave

rt Toggle log

® Tert Nodel 1 e L ]

Repetier-Host V1.6.2 - (m] X

File View Config Printer Server Tools Help
[~
j’é‘{s

Connect Load Toggle Log Printer Settings Easy Mode Emergency Stop

3D Viev Temperature Curve Object Placenent Slicer Print Preview Nanual Contrel SD Card

[
g P> Slice with CuraEngine Kill Slicing
1
q’ Slicer: ICuraEnxins v I G Nanager
a oo 5
@ Print Configurations sfault »
E Adhesion Type: None <
g Quality: 0.2 am |
Suppert Type: Touching Eed 2
Y
Speed:
Slow Fast
Gl Repetier-Host V1.6.2
File View Config Printer Server Tooks Help
0 .B.
Connect L% Tog;fLog
3D View Temperature Curve Cura
CuraEngine Settings
Print Filament
Default v o save
Speed and Quality Structures Extrusion G-Codes Advanced
Speed
Slow Fast
Print: [s0 80 | [an/s]
Travel; [150 [150 | [am/s]
First Layer: |3a |30 | [mn/s]
Outer Perinster [30 I | [an/s]
Inner Perinster [s0 | feo | s
Infill: o0 100 | [an/s]
Skin Infill: 30 o0 | [an/s]
Quality
Ariait aality: [0z ma ] |
0.2 an Selected Quality Setting
| Rae: fzm
Layer Height: 02—‘ [an])
B | mivst aver melihn: s Inn]
° ) First Layer Extrusion ¥idthd zmo %]

Click the botton, load the folder

“Test Model” in “FlyingBear-tornado Printer”

Set parameters according to pictures



15. First print model

(& Repetier-Host V1.6.2
File View Config Printer Server Tools Help 8 RepetierHonV iR — = >

o i @ ] I File View Conkig Printer Server Tools Help

Connect Load Toggle Log 0O .B v

3D Viev Temperature Curve Cura Connect  Load  Toggle Log Printer Settings Easy Mode Em
CuraEngine Senings :ﬂé:ﬁlt Teaperature Curve Cura O'béoﬂ Placement Slicer Print Previev Marual Contrel SD Card
Print  Filanent & P Slice with CuraEngine Kill Sticing
Default > o save
g Slicer: Curafngine ] Of Banager
Speed and Quality Structures Extrusion G-Codes Advanced Q el
Speed Print Settings:
Slow Fast Print Configuratied: sfault <]
Print: |40 | Jeo [na/s] I~ Adwatontypst.  |men °
Travel: [150 | [ise (ma/s] ) Quality: ozm 3
First Layer: [s0 | [se | [na/s) | Support Type: Hene ~
Outer Perimeter 30 | [e0 | [ma/s] 4
Irmer Perineter [s0 D | [nn/s] Apee: " —Ch .
L = Slov Fast
Infill: (80 | freo [na/s] Print Speed: 45 m/s
- -4 Outer Perimeter Speed: 33 mu/e
Skin Infill: [30 | [e0 [na/s] Infill Spoed: 71 na/e
= Infill Density Sin
Quality
pefault uality: (0.2 n - | Etrable Cosling
Selected Quality Setting 8 e
+ Nane: 0.2 nn
Layer Height: 0.2 [=a]
¥ Firet Layer Height: 0.5 ] [an)
° 5 First Layer Extrusion Vidtht [100 ] %]
(@ Print-Rite CoLiDo Repetier-Host V1.5.5 - Test Mode! - o *

File View Config Printer Server Tools Help

O.@.>.u ¢ © @ -

Disconnect Load  Start Print t Toggle Log Printer Settings Easy Mode ColiDo Emergency Stop
30 Viev Temperature Curve Object Placement Slicer lunul Contrel SD Card

> Print ) Edit G-Code
B Save to File |®  saveforsoprint
10

Printing Statistics

Estimated Printing Time: 6m:11s b e L o
Layer Count: 19 After slice is done,Click “Save to File” to
Total Lines: 1322
Filament needed: 123mm i i
save the file in SD card.
Visualization

[] Show Travel Moves
@® Show complete Code
O Show Single Layer
O Show Layer Range

E y ]

o

Shov in Leog: @Commands Olnfos OVarnings OFrrors @ACK  Qduto Scroll  BClear Log  @Copy
1 <Slic3r> Done. Process took 0 minutes and 0.472 seconda
<Slic3z> Filament required: 121.4mm (0.3cmd)

Connected: FlyingBear Extruder: 30.3/205°C Bed: 30.2/60°C Idle

After insert the SD card into LCD,choose “Prepare”----"Auto home”

Choose “Prepare”---"Preheat PLA”----"Preheat PLA”



15. First print model

Skills of printing vase

Printing different models need different skills.If you want to print a very fine looking model,you need to continue to
explore yourself for a period of time.Next,introduce the skills of printing vase for you.
Step 1.0pen the model folder “vasel” in “FlyingBear 3D Printer”.
Step 2. Copy the model "vase 1" into the SD card and then start printing.
Step 3.After the start of the print , observe the quality of the model, you can change the "speed" and "flow" to get better

print quality.

During the printing

FaTal



16 . Flyingbear-P905 wiring diagram

Z-motor Z-motor

By ®

‘? /‘a (dual extruder)
E1- E2-mot

4010-Fan X-motor

Y-motor

sl

. o

R
W

!Y!] g A
h ’ﬁ.@—...ﬂl

(dual extruder)
Nozzle heating 2

_—

X-Limit switch

J \&

T - o = =
¢ ] A T

Y-Limit switch

-
{ !I moisde  S5ifee L Nozzle  Bed o i Auto leveling
: . H thermistor 2 thermistor thermistor 1 -5
(dual extruder) e

Extruder 1 Extruder 2

4010-Fan

29



